MM CADETS 2022-2023 (R1) : Ofschlosstabellen

[ P]++|Exipp [prlc[x]v]em]| [P]t]exipp [pr]c[x]v]em| [P]ts]exipp [pr]c[x]v]Bm]|
DIV 1 DIV 2
1| |Houwald 1 15/5|/0|0 1| 4|Houwald 2 12|/3|1|1 BM = BEMIERKUNGEN
2| |Bartreng 1 123 |1|1 2| |Nouspelt1 111302 | ¢ PT = Punkien
3| |Recken1 1112 |12|1 3| |Diddeleng 2 11{3|0| 2| 4P G = gewonne Matcher
4| |Diddeleng 1 9/2/0]3 4| |Recken 2 11/3]0]2]%" X = Glaichspiller
5|# Baerdref 1 81|13 5| ¥|Bartreng 2 81113 .\ll.fzvegig:e_'\fzzt:xr[lxlZX]
6|¥|Beetebuerg-P.1 | 5|/0|0|5 6| ¥|Housen 1 711/0(4 4 = Ekipp steigt
¥ = Ekipp fallt raus
DIV3-DIS1 DIV 3-DIS 2 # = repéchéiert Ekipp (Art. 5.4.011)
1|4|Recken 4 144]1|0 1| 4|Zolwer 1 12/4]0|1 ¢ = disqualifizéiert Ekipp _
N-N = Resultat vum 'direkte Verglaich'
2 Elll 13/4]0]1 2 Féngeg 1 1113]0)2 n:n = S&tz am 'direkte Verglaich'
3 Berbuerg 1 11/3(0| 2 3 Beetebuerg-P.2 |10/ 30| 2 64 DBL = Entscheedung duerch den 'Dubbel'
4| |Rued1 10(2 1|2 4| |Recken 3 10/2|1|2
5|#|Léntgen 1 711|014 5| ¥|Zéisseng 1 91203
6 | ¥|Sandweiler 1 3/0|0|5 6 | ¥|Diddeleng 3 60|14
DIV4-DIS1 DIV 4 -DIS 2 DIV4-DIS3
1/%/Hueschtert-F.1 |13/ 4 /0|1 . 1| t|Cado 1 1112(2]|1 s 1| 4|Béerdref 2 15/5/0/|0
2| |Lénster 1 13/ 40| 1|10-10 2| |Bartreng 3 111302 2 lerpeldeng 1 13/4/0|1
3| |Recken5 13/4]0]1%%] [3] |Houwald 3 10[2]2[1] | [3] |Buergiensters [11[3]0]2
4 Ell 2 9/2/0(3 4 Zéisseng 2 101212 _ 4 Fluessweiler 1 8(1/1|3
5| ¥ |Biissen 1 711|014 5| #|Mondorf 1 92|03 5| ¥ |Biwer 1 710123
6| ¥ |Housen 2 5/0|0|5 6| ¥ |Diddeleng 4 81113 6| ¥ |Berbuerg 2 60|14
DIV5-DIS1 DIV5-DIS 2 DIV5-DIS3
1(4/ENI3 15/5/0/|0 1|4|Mamer 1 15/5/0|0 1|4 |Stroossen 1 13/4(0|1
2| 4|Kaerch 1 13/4|0|1 2| 4|Union 1 1314|101 2| |Leideleng 1 12/3|1|1]| 55
3| |Groussbus-M.1 | 9 |2 0|3 |128| |3 |Bartreng4 9/2]0|3|,,4| |3 |Lénger1 12|3]1] 1 %%
4| |Weéntger 1 9120|3911 4 Recken 6 92|0]| 31010 4 Eiter-Waldbr.1 |10/ 3|0 2
5|#|Préizerdaull | 9 |2]0]3 || [s[#[EN4 9l2[0l3|°"| [s|+|Diddeleng5 711]0]4
6| ¥ |Housen 3 3/0|0|5 6| ¥ |lechternach 1 3|/0|0(5 6| ¥ |Bartreng 5 5/0/0/5
DIV6-DIS1 DIV 6 -DIS 2 DIV6-DIS3
1|4 |/Wolz1 14/4(1|0]| 55 1| 4|Nouspelt 2 1214|100 1|4|Zéisseng 3 12/4|0|0
2|4 Recken 7 14| 4| 1| 0|98 2| |Léntgen 2 93|01 2| 4|Union 2 9(2|1|1] 55
3| |Weéntger 2 10/2|1| 2] 55 3| |Kaerch2 82(0|2 3| |Mamer 2 9|2|1|1|®®
4| |ENS5 10| 2| 1| 2|7 4| |Bartreng 6 6|1(0]3 4| |Helleng 2 5/1/0/3
5| |Hueschtert-F.2 |7 |1/0|4 5| |Préizerdaul 2 410|0|4 5| |Fluessweiler 2 410(0|4
6| |Welwerwolz 1 5/0|0|5
DIV6-DIS 4 DIV6-DIS5
1|4 |Rued 2 93|01 1|%|Buerglénster2 [12|4|0(0
2|4 |Helleng 1 812/0/2|,, 2| 4|Oulien 1 913|0]1
3| [Mondorf 2 8|12|0|2]4P 3| |Meechtem 1 82|02
4| |Bech-Maacher1 | 8 |2|0|2| 2" | [a] |Lenster2 6(1/0]3
5| |lerpeldeng 2 6/11/0/3 5| |Méischdref 1 4/0(0|4

Versioun 30.11.2022



